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Grade 2: Lesson 12 Solving Addition and Subtraction Word Problems with Models and Equations

Suzy’s ribbon is 83 centimeters long. She cuts
off 15 centimeters. How long is Suzy’s ribbon
now?

Use the model to solve the problem.

Jackie’s shoelaces are 68 inches, 14 inches, and 2
inches long. What is the total length of all of Jackie’s
shoelaces?

Use the model to solve the problem.
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Write and solve an equation to match the
model.

L |
6‘8 6‘9 7|0 7|1 72 7‘1 I’L- 75 TL 77 78 FL E.‘O 81 82 RL 84

Write and solve an equation to match the model.

Ryan’s desk is 25 inches tall. His floor lam is 54
inches tall. How many inches taller is Ryan’s
floor lamp?

Use the model to solve the problem.
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Write and solve an equation to match the
model.

Mary is 3 inches taller than Bill. Bill is 6 inches shorter
than Jim. Jim is 78 inches tall.

Use the model to solve the problem.
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How tall is Mary?

How tall is Bill?
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